(]

38224 - ST & T AT 39 (& H GHIT ST

29

ET AT T 3T I (& H ST S &7 39T & (AT JIT M1 &1 Al AMHA 8)° F 16 4 5,
TEAT-RIEdT & 4T & [ I8 Saet 781 8 |

feega saT

&Y WAL &l T9HET 31 AT dde odATe Tl & [0 IT & 1.

AT T AT F, HTSA TR T F AT & 98 Tl A5l & | 3 &l T AT Iqh & § ST ST AT & | HH0ET
FAT A WA H & & T 3T §9T IT 39T & (AT TEAH &l &TAd & 8317 &, 39T avg o F q1gel
T 99 g7 99T S gTa § ar |

AT ATy TAT &7 FE=SS T aTAT & |

1/1


https://archive-1446.islamqa.info/hi/answers/38224/%E0%A4%88%E0%A4%A6-%E0%A4%95-%E0%A4%B0%E0%A4%A4-%E0%A4%94%E0%A4%B0-%E0%A4%89%E0%A4%B8%E0%A4%95-%E0%A4%A6%E0%A4%A8-%E0%A4%AE-%E0%A4%B8%E0%A4%AD%E0%A4%97-%E0%A4%95%E0%A4%B0%E0%A4%A8

